EARAZROREIERT — 2 N—XBISY —F 2016518318 (H) 20@1{x&E6H

miﬁﬁﬁ‘& C2 #5%4mt BRI R
[AE4£] 1% :200,000" ~ 27%&:46,000” ~ 33%&:18,000 M . 43&:10,000 57 :6,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i o |1 XRFS o4 56‘%@ 1:56.4 6-6-6-2 | 40.0| — 5 461 g%ég (£%)
: =) 2 |B
XL THANKIN BHTF—HL 54X (-2) Tiss
2 6| TETFY 5 52%@—&5 1:(56).6 55-4-3 405 — | 2 | 528 {Iﬁlgzg (1£%)
. 1 R
R TSATLREA L B by TETHFEL #6) | Tiemas
37| 7|&y bE=F f o4 | B 1(/5\33? 2-p-2-1 |40.8| — | 1 | 478 i;;éﬂc_' (=S
QILNAT A== BT TR R O Es me
411 | PELTIVRET R %4 | LoR e 7-7-7-6 402 — | 4 | 511 jﬁﬁ?ﬁ* (1)
R:ZFAT—WF B:xYON—32-X W) s 577—0
5lglg| vz ruT o4 ;li_ﬂglﬁk 1:(517).1 3-3-3-4 |41.1| — | 7 | 456 %E?ﬁ (=%)
R:T74=TxAh4 B:A—-TY—hriX=— © INHISH T 7 — L
6 3| 7N7za7 7 51%6_53&11 1:(558).0 4457 |41.8| — 3 | 510 iggg&’ﬁ)
QUL RUSURIR BivAhE v T U PV
7 Al vENY Y1 o4 %Eﬁﬁ 1:(518>.2 8-8-8-8 |41.0| — 8 438 %Eg% (#£8)
QAR TRb BA— HAN #) | mapapss
slalg|7E-vr2v2 i 5 SZEéJ.Ié'rEﬁ 1(/75?:)2 1-1-1-5 | 42.5| — 6 492 iﬁ%i (t£%)
QAL TAGw— BFO-T5Fy b @9 | epapsg
LRy == BworriUyy N RE
® I—F—@EBIERL
13—7+— 8,7,5,3,6,2,1,4
23=7F= 8,7,5,3,6,2,1,4
T =35r= 8,7,5,6,3,2,1,4
41—F— 7,2,6,5,8,1,3,4
[ N5
B 2 1,070M 714K 2-6 430M B & 2-6 2,050 &R 2-6-7 720M
# B 2 210 2-7 500 B H 2-6 5,200 EE 2-6-7 17,070M
6 100 6-7 120M
7 110/

ABICOVWTRDTEEERROODE. TR LIV,



